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VEPE ALY
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20247 B
Y& AE
S HERRE R EE R
(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(EFEENEAZSKER)
fotr 2.277 0.003 - 0.760 0.048 &
LA i 1.512 0.021 - 1.091 0.130 =
/b= (HC) 4.545 0.012 - 0.120 0.054 =
b= (HF) 0.306 0.000 - 0.047 0.017 =
“&/ER (SO2) 15.147 0.109 - 7.477 2.475 =
—& /L% (CO) 7.578 0.004 - 0.367 0.108 =
HEEY (NOx)
PLI=&/EE (NO2) 30.303 1.014 - 12.539 2.292 =
s E
(b) [FFEEEH — HI9E (HNEHRENRRER)
fotr 0.756 0.008 - 0.197 0.048 s
LA 0.756 0.053 - 0.239 0.133 =
F/bE (HC)) 0.756 0.018 - 0.078 0.054 s
#wILE (HF) 0.072 0.006 - 0.030 0.016 =
—21ERRE (SO2) 3.789 2.259 - 3.006 2477 =
—& (b (CO) 3.789 0.055 - 0.163 0.108 =
HEY (NOx)
L= EAEE (NOy) 15.147 1.248 - 7.060 2.317 yasa
ETHE
28 HERPRE Y ERzahiR R
(kg/hr) (kg/hr) (B/E)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0003 =
9 S SE VAR S 0.003789 <0.0013 =
EEya s 0.0378 <0.0059 e
IR Ry IR 0) 7.575x 107 <6.641 x 10°1° =
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(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(EFEENEAZSKER)
fotr 2.277 0.002 - 0.010 0.003 &
LA i 1.512 0.000 - 0.662 0.110 =
/b= (HCD) 4.545 0.024 - 0.087 0.063 =
b= (HF) 0.306 0.004 - 0.037 0.021 =
“ &AL (SO2) 15.147 1.059 - 3.643 2.640 =
—& /L% (CO) 7.578 0.000 - 0.310 0.057 =
HEEY (NOx)
PLI=&/EE (NO2) 30.303 0.973 - 10.983 2.656 =
s E
(b) [FFEEEH — HI9E (HNEHRENRRER)
fotr 0.756 0.003 - 0.004 0.003 s
LA 0.756 0.045 - 0.194 0.110 =
ZF/bE (HCD) 0.756 0.049 - 0.073 0.063 s
#wILE (HF) 0.072 0.014 - 0.028 0.021 =
—21ERRE (SO2) 3.789 2.327-2.928 2.640 =
—& (b (CO) 3.789 0.006 - 0.112 0.057 =
HEY (NOx)
L= EAEE (NOy) 15.147 1.394 - 3.951 2.657 yasa
ETHE
28 HERPRE Y ERzahiR R
(kg/hr) (kg/hr) (B/E)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0003 =
9 S SE VAR S 0.003789 <0.0013 =
EEya s 0.0378 <0.0059 e
IR Ry IR 0) 7.575x 10° <6.639 x 1010 =
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(kg/hr) (kg/hr) (kg/hr) (B/)
(a) [FFEEH — /NP E(EFEENEAZSKER)
fotr 2.277 0.005 - 0.016 0.008 &
LA i 1.512 0.026 - 0.874 0.135 =
/b= (HC) 4.545 0.047 - 0.142 0.107 s
b= (HF) 0.306 0.008 - 0.061 0.027 =
“&/ER (SO2) 15.147 0.047 - 5.450 2.475 =
—& /L% (CO) 7.578 0.000 - 0.467 0.198 =
FALY) (NOx)
DI=%AEE (NO2) 30.303 0.980 - 12.841 2.684 =
EFE
(b) [FFEEEH — HI9E (HNEHRENRRER)
(AR 0.756 0.006 - 0.009 0.008 s
LA 0.756 0.055 - 0.225 0.134 =
F/bE (HC)) 0.756 0.088 - 0.119 0.107 s
mIbE (HF) 0.072 0.021 - 0.044 0.027 =
—EAERT (SO2) 3.789 2.009 - 2.651 2475 =
—& (b (CO) 3.789 0.006 - 0.399 0.198 =
FEALY) (NOx)
PLIZ&EEE (NO) 15.147 1.268 - 3.598 2.683 =
SHE
28 HERPRE Y RS S R
(kg/hr) (kg/hr) (B/E)
(c) | FREH (HRr{EERFTEE)
7K 0.003789 <0.0003 =
9 S SE VAR S 0.003789 <0.0011 =
EEya s 0.0378 <0.0048 e
IR Ry IR 0) 7.575x 10° <5.241x 10°1° =
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